                                  Who is to blame
                                                                     David  Dong
The book《  Choices 》 was written by Susan Kerslake. The story started  as a calm relaxed situation but kept getting more and more tense as the story progressed. There are two characters . Peggy, a young innocent girl. She is a dynamic character and she is also the protagonist. Ken, an average height guy. He has lot of noticeable scars. Peggy accepted ken’s invitation to go out for a trip, but at last, they met a serious traffic accident. Peggy realized she did a wrong choice, she should say “ no ” to Ken.
In the story, I think the one who is to blame is Ken. First, from the paragraph “ Ken drove off. The passenger seat was empty, but that was all. Hampers, suitcases, buckets, baskets, bags full of essentials were stuffed into everything available space in the small hatchback.”  We can see from these sentences that gave the reader such an impression. What a mess! So many things in the car. When the accident happened, it added hardness to the rescue. And it showed Ken had a poor self-care ability. He was optional. He hardly cared about others, only himself.
Second, from the paragraph “ Ken got out for a moment and put the hood up. Peggy looked in with him at the still grey motor, supposing that if she could see it while the car was running she could see parts moving. As it was, it seemed an unlikely contraption; a tangle of shapes, a thick, sale smell. Some parts were clean and shiny. Most were caked with oil and dirt. These sentences showed the car had a poor condition, Ken didn’t have a good maintenance to his car. 

Third, from the paragraph “ When driving, Ken’s legs loosely apart, one knee resting on the door, the other brushing the gear shift. One hand gripped the top of the wheel, the other, upside down letting the wheel slide back and forth through his fingers.” From these sentences we can see Ken was not aware of the importance of driving carefully, it hid some danger for accident. 

In sum, Ken was responsible for the accident because of his carelessness, random. Meanwhile, Peggy had her own problem. She was innocent, She should be responsible for what she decided. The short story demonstrates how little choices we make everyday can have a big impact on our lives.  
